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QUESTION 1

Which statement is true about Member Company?

A. It is the company that is a subset of the owner company.

B. It is the company that is hosting the project.

C. It is the company that bought Unifier.

D. It is the company that is invited to work within a Unifier project or Shell.

Correct Answer: D

QUESTION 2

Identify two use cases for Shell template. (Choose two.)

A. Add Member Companies across multiple Shells.

B. Push changes out to Shells as part of the changecontrol process.
C. Create a new Shell by copying the Shell template.

D. Manage Group Permissions across multiple Shell types.

Correct Answer: CD

QUESTION 3

You are importing a Business Process setup into a Shell template. You receive an error message. Identify two reasons
that might have led to thistransaction failure (Choose two.)

A. The security settings in the Company Workspace prohibit import/copy functions.
B. You cannot import the Business Process into a Shell.

C. The Business Process setup that you are importing is not active.

D. The Shells are not of the same type.

Correct Answer: AD

QUESTION 4

View the Exhibit.
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You want to set up a BusinessProcess. You navigate to this screen. However, you do not see the Business Process that
you want to set up.

A. The Business Process does hot exist.

B. The Business Process has not been activated.

C. The Business Process does not have a beginning or an end step.
D. The Business Process does not have users assigned.

Correct Answer: D

QUESTION 5

You are formatting the layout of the Description block.

What action must you take if you want to hide the label of this block?
A. Clear the Show Description field.

B. Clear the Show Label field.

C. Delete text in theName field.

D. Delete text in the Label field.

Correct Answer: B
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QUESTION 6

Non-assigneesusers who can edit a specific step in a Business Process when it is in draft mode are called
A. administrators

B. assignees

C. record editors

D. step editors

Correct Answer: D

QUESTION 7

Identify one function granted to On Hold users.
A. They can be added to workflows.

B. They can log into Unifier.

C. They can initiate Business Processes.

D. They can create Business Processes.

Correct Answer: A

QUESTION 8

You decide to add a second Detail Form to a Business Process after it has been published to production. After doing so,
you must also change

A. the Business Process properties
B. the workflow (s)

C. the Upper Form(s)

D. item logs

Correct Answer: A

QUESTION 9

View the Exhibit.
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Identify two Business Process typeswhere the Find tab interface in Log Properties is split two halves (Choose two.)
A. Document

B. Simple

C. Line Item

D. Text

E. Shell

Correct Answer: AC

QUESTION 10

What is a resolving Condition?

A. a problem-solution statement within uDesigner

B. a path that is taken if a condition does not trigger

C. a picker that auto-populates data within a workflow
D. a solution that is created within linked fields in Forms

Correct Answer: B

QUESTION 11
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Which option is unique to Lineltem Business Processes at the Company level?

A. Enable for Mobile/Handheld.

B. Use this process as RFB master vendor list.

C. Display the Total Amount sum of the line items at the bottom of the System Defined tab.
D. Enable Calendar.

Correct Answer: D

QUESTION 12

As a Unifier administrator, you need to update the value of a single field of a Shell Attribute Form across multiple
Shells.

Which Unifierfunctionality should you use to complete this action?

A. Push the updates from a Shell template.

B. Perform a .CSV import.

C. Perform a Bulk Update from the Shell Log in the User Mode view.

D. Perform a Bulk Update from the Company Sponsored Shell log inthe Administrative Mode.

Correct Answer: B
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QUESTION 13

Identify the process that makes a completed design available for testing purpose.
A. Import

B. Design Bundle

C. Tag

D. Deploy

Correct Answer: B

QUESTION 14

When can an assignee decline a task if an option is enabled for a step?

A. if there are multiple assignees on the step and the others have all already declined

B. if the assignee is the only assignee on the step and has the ability to add assignees on the step
C. if the assignee is the only assignee on the step andhas the ability to add CC

D. if there are multiple assignees on the step who are yet to accept/decline the task

Correct Answer: D

QUESTION 15

The Location tab in a Singlelnstance Shell is disabled because
A. Single Instance Shells are always at the top of the hierarchy
B. no permission has been assigned to locate the Shell

C. navigation tabs have not been configured

D. the Shell hierarchy is not defined

Correct Answer: B
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